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Attempt all questions. Log tables and other tables
shall be provided on demand. Use of simple
calculator is allowed.
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l.

A firm produces 3 products P, P, and P, requiring
the mixup of three materials M, M, and M,. The per
unit requirement of each product for each material is

given below:

M, My Ms
2 3 "1]p
A=l3 1 1 |p

1 4 2 |p

Using Matrix method. find production of each product
if firm has 850, 1250 and 650 units of the three
materials respectively. Also find per unit cost of each
product, if cost per unit of three materials are Rs.5,
Rs.10 and Rs.12 per unit respectively.

OR

A firm has two machines M, and M, costing Rs.75000
and Rs.90000 respectively. Both have a life of 5 years
with scrap value being nil. Find depreciation of each
mahine for each year using matrix notations if

(1) Both are depreciated by Straight Line Method

(i) Both are depreciated by Sum of the year digits
method

Also find total depreciation of each year if first
machine is depreciated by straight line method
and second by sum of the year digits method.

(7
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@& & P, P, 3R P, 7 3 @1 dw w@ ¥ e
e M, M, 3R M, & vl & Foor ot e B
21 9% IR A Uy e B e v Terd o sEvEE
N a

2 Ms

-—-uNZ
A-—uz

1
1 | P2
2

Az B & W@ =@ AT INE FH I T Fifow
R & ® w@ A werdl @ FAT: 850, 1250 AR 650 IR
Iqwa ¥ W9 8 TAE IAE A U g wme iy
7f? § vl A Ul gfe SR w5 %, 10 T 3R 12
T

Jaarn

v @ aE M, R M, 3 T ¢ R S e
75000 & 3 90000 & 1 2 W0 wiaT 5 AW 2 IR wHY
wea Y B T A IR a6 e T A A
w YA F@ T A ale

(i) 2 = w1 wa i @ Ry g e s

(ii) 29 W Tl R s W e R g B e

1
P.T.O.



1454

2. (a)

(b)

4

a7 A 9 a4 & W &8 A A afe g whe
® A wE A v Ry R 7 gE WAl @i
% o Ay g @ e 2

The price function of a product is P = 100
¢35 Find the price and gquantity which

maximises total revenue. Also find the maximised

revenue.

OR

The average cost function of a product is given
by AC(X) = X + 5+36/X. where X is the number”
of units produced. Find the output for which AC
is increasing and the output for which AC is
decreasing with the increase in output. Also find
corresponding total cost function and the marginal
cost function. (4)

A monopilist price function is P = 300 - 5X. Find
the price and quantity where total revenue is
maximum. Also find price elasticity of demand
at this level.

OR

A company produces X units of a product. The
total cost TC and total revenue TR given by
equations TC = 100 + 0.015 X* and TR = 3X.
Find how many items be produced to maximize
the profit and what is this profit? (4)
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(c) The marginal cost function of a product is

(@)

MC(X) = 2(2X +9)%. Find the corresponding
total and average cost functions if the fixed cost

is Rs.4.00.
OR

If the marginal revenue function of a product is

6
given by MR(X) = &Tz‘)'z_'*'s, find the

corresponding total revenue function and demand

function. (4)

v I F @G wew P= 100 eV B deE
stk T S AT W TR B AEE Qg
& sfrradige TaE W AN AT

o

vF IR W ANEE AW e W wa e &
AC(X) = X + 5+36/X S8l x Jeaied gfAer &t we 2
Wﬂmuﬁlﬁﬂﬁr«%mAcam%a}t
ez REd B AC W @ 2 3 I ag @ 2
F & FER wE A G SR G A 6
a Ffer

o @ Sa P =300 - SX R SR A T
Hfvre FE Fa TaE AfaEEd 3 wa B W ' W

#m ot @ da W A A .
P.T.O.
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3. (a)

FHYar

vE w0 @ I @ X g a1 wme IR
TC 3R %ot Toe TR & TN & 79 8 € @ TC
= 100 + 0.015 x2 3R TR = 3x 7@ #hw & e
T AN Wl forgd AW Fftedaw B WY IR T8
av fen 27

UE IO & AT aNE Ge 98 8 MC(x) =
2(2x+9) S FTER HA AR IMET W G B A
Fifse af? wrlt wrE 4 T Eh

FHeqdn

Find the amount of Rs.5000 after 8 years if
invested at 6% compounded semiannually for the
firsi 2 years, at 8% compounded quarterly for
the next 3 years, and at 7% compounded

conti.nuously thereafter.

OR
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(b)

7

Mr. X deposits Rs.10,000 in a bank for 3 years.
Bank offers interest at the rate of 10% p.a.
compounded quarterly, 12% p.a. compounded
semi-annually and 13% p.a. compounded annually
for 3 years respectively. Find the balance after
3 years and total interest earned. (3)

A person has RS. 3000 to be deposited in a bank.
One bank offers 8% interest per annum
compounded half yearly, while another bank
offers 9% per annum compound annaully.
Calculate the returns in bothe the banks after 3
years. Which bank must be chosen no as to get

maximum returns after 3 years.
OR

If interest is compounded quarterly at 12% p.a.,
how much time is required for a sum of money
to double itself. (3)

5000 ¥ F 6% uwgie FdaliE w0 ¥ g A adl B
o 6% w, st @ ad & fow 8% wwafe @ &
| H 3R IeD e 7% Iwgfe wmER PR w e w
8 aq @e fe el off e Fifsm

JFuar

P.T.O.
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iy X & af & fag &% ¥ 10000 ® S T 2
¥ ww: 10% 9ft af Twafe foondt &t = d R 12%
oft af wwgfe afafie w0 # sk 9= af @ fow 13%
via af wgfe affs = 3 & v w21 @
7§ ae Y0 @R FE Iufa =W T Ffw

(@) U= =fdm @ 9@ 3000 & ¥ o @8 9 & s o
aEd 21 vE dw 8% wie ad uwafe snfafie =W
& wEE w ? A g ¥ 9% iy ad wwafe
M A A F T @ B A ad @ A danr
A o vfewa 1 uREee Fifoe) G ad ar st
sfawd o FA @ o e ¥ @ g wfRw

-

eqan

afR 12% i ad femdt w1 ¥ Twafe = wma s,
2 afyr = g BN A feew W wERm

(45000)



